[image: image1.png]Everyone knows i'm the brains of
the herd... Of course the answer is:

173+7 =180

Sid doesn't know anything -
don't listen to him! T would

180 + 20 = 200

200+14 =214 do the sum this way:

7+20+14: 41 200 - 100 = 100
73-14 =59

answer is 41
answer is 159

4-3=1
1-7can't do
11-7=4
1-1=0
answer is 14

174 + 40 = 204
204 +10 = 214
1+40+10=41
answer is 51

Discuss who you think has answered the sum correctly.
Is there anyone who has nearly got the correct answer?
Why have the others made mistakes?




[image: image2.png]Eh?L.. T think the
answer is
A=LxB
A=55x4
A=205cm?

This is too easy!...
The answer is
A=55+4+55+4
A=19 cm?

What is the area of this rectangle?

5.5cm

4cm

I think the answer is
T know the answer is

A=LxB 55
A=55x4 x4
A= 22m? 220

i

Discuss who you think has answered the sum correctly.
Is there anyone who has nearly got the correct answer?
Why have the others made mistakes?
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     How would you solve this problem?  Can you show more than one correct strategy?  Do some research to see if you were correct.                       
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How would you solve this problem?  Can you show more than one way?  Do some research to see if you were correct.                     








                   


























